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(2) Afor(int i=0;i<3;i+=3) System.out.print('*");

(3) for(int i=1;i<1;i++) System.out.print('*");

(4) Afor(int i=3;i<3;i--) System.out.print('*");

(5) for(int i=0,7j=0;i+j<7;i+=2,j++) System.out.print('*');
(6) for(int i=0,j=i;i==7j;i+=j) System.out.print('*");
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(1) G RIEBEFRIT THD) OBEETVET
(2) GRIBBEFIIBEEMBRELUTCint BOEEZRLET
(3) switchXI[FEEFTHD., BEBREEHIT
(4) switch X[EDIXXD1DTT
(5) for XIFETHIEIL—TTY
(6) while XI[FBHEIL—TTT
(7) for XD THEMEDI] 1F. RAIC 1 ERTEITINTET
(8) HBHTEIN—TTIEINT1EIIHR MBI HRITINET
(9) BIHEI—TTIE 1 EGIBE UBEIERTSINEEA
(10) ZBHDRI-TERFZOEHESIRAUESI— FLDOMEIHETY
(11) BAEECEOBHODEHZEE CEIT
(12) BeAIDBEHIBRE new BEFZRANTHRRLET
(13) 1 RITESIDRDEIEBRDIEEIIHRAFIC 0 ZEETFT
(14) ESDRAFIC ' a' BEDNFUTIIVEIBEITDCENTEZT
(15) 1 RITEIISFZDESZBZ DEINEBRICIIHEEZANATEIEA
(16) 2 RITEIIDBEIIBRZIBE I DICIE 3 DDRAFTHNMUETT
(17) BeAIZBHIIERRZHD 1DTI
(18) SREZHICIFEDHZBZIEURISERMINASINZT
(19) DOSRDOAVNNOHEIT e FEF11ETT
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(1) switchX
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Bcdl1 158 258 338

iq8 | 1 | 2 | 3 |

int[] aryl = { | (1) B

ES2 1518 258

1178 0 1

2178 2
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int[1[] ary2 = { | (2) B
Bc5)3 158 238

178 | 1 2 |

2178 3

378 | 4 5 | 6 |

int[][] ary3 = { | (3) B3
BRY92 ROI—RERGFUEEZEOBEBAENESZESN,

int[][] ary=new int[2][4];

(4) System.out.println(ary.length);
(5) System.out.println(ary[@].length);
(6) System.out.println(ary[1].length);
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(1) if(i==j)continue; (2) if(i>j)continue;
(3) if(i'=j)break; (4) if(i<j)break;
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1: class {

2: int cpu; // GHz

3: int[ () |; // GB

4: }

5: class Final6{

6: public static void main(String[] args){
7: PCmypcs  (3) |Pq__ (&) |;
8: .cpu=4;

9: mypc.memory=8;

10: }

11: }
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for(int i=0;i<3;i++){

2F R—=UVoers—
import java.io.*;

class Final7{ 1F 701
public static void main(String[] args) throws IOException{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));
int floor;
System.out.println("CERNITDIBEALLTIZS0\");

floor=Integer.parselnt(br.readlLine());
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E;; :EEEZEZ for(i:F j=0;7<3;j++){
(4) do whiieSZ b [i] gysteL.out.print(j);
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W R 2 \ | : | System.out.println();
1 2 3 4 }
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(1) for(int i=1;i<3;i++) System.out.print('*"); 012 o1 2
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